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<Z7A O>sinx = 0.2588
<Z71 @>tany = 0.3640

e AFQI(sin) |2 AFQ!(cos)| EHEI E (tan)
14° 0.2419 0.9703 | 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 | 0.9397 0.3640
21° 0.3584 0.9336 | 0.3839

@® 28° @ 30° ® 32° @ 35° ® 40°
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T sin z cos T tan =
42° 0.66 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.79 0.97
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@ 72cm? ® 90 cm?
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18. The3}t 22 AABC 914 AC o] Zolg Fatelat.




19. o232 AABC 9] &0|& F5hE T A
g dREelth @ + b O FE
T-5HH?

AH = h=}5hH,
BH=axh CH=bxh
o], BH+ CH = 100|2&2
h(a+Db) =10




20. o= ™A ABCO ¢
A AABC 9] &°] h+=?

@ 30(V3+1)

@ 40(V3+1)

® 50(V3+1)

@ 60(

(

0(V3+1)
® 80(V3+1)



21. thg 1%9] AABC o4 ¥ BC ©] $H& M, BC = 10, AC =
5, AM =25 o 1, AABC 9] ol Fatefzt,



22.

o2 "2 A ™A
AYef 9= D 272 9
A& 5t7] 91t Aol
AB = 100m, AC = 40m,
(BAD = /CAD = 60° ¥

w, AD ©] Zo]& Fstefet,

B :




23. o= I¥I Z2 HYPAPHY
< o, jZtA BD 9] do|& 5HH?

A D

® 2+31cm @ 2+33cm ® 2+35cm
@ 2+/37cm ® 2439cm



24, th2 189 AABC oA A : /B: /C =
3:4:5090]11 YO 9 HRE9 doj7}t
24cm 4 Uf, AABC 9] ¥o]=9
@ 264 (2 + V3)

@ 144 (3 + V3)

® 149 (2+ V2)

@ 288 (2+ V3)
(3+ V3)

® 288 (3+ V3

e




25.

the 199 2ol 21E2] o7} 12 9l ol HsHe 4
ol Sy + Ss—Ss = “Fotoiaf,

/go

12

oflh

_C_q



